
48’-0”

P Q

4

5

6’-0”

4’-0”

4’-6”

8’-8”

22’- 4 ¾ ”

13’- 3”

6’-0”

Room # 3 
Ribbon Blender

39’-5”x 48”

Room #2
Industrial Ingredients Packaging

48’ x 48’

N TSR

24’-0” 24’-0”24’-0” 24’-0”

Room #1
Soup Pouch Packaging

24’x 48’

Room #4                            

Clean-Up & Prep                    

20’ x 48’

60’-0”

Office Complex

- Hallway -12’-0”

17’- 4 7/8 ”

6’- 0”

6’-0”

8’-5 ¾ ”

CL Yamato & WeighPack

Inlet Centerlines

CL

16’- 9”

N

Utility Room

Men's Restroom

HS

HS HS

HS

HS

HS

HS

HS

HS

3/8”

¼ ”

3/8”

¼ ”

3/8”

3/8”

3/8”

3/8”

3/8”

¼ ”

¼ ”¼ ”

¼ ”

¼ ”

A

A

2’
Approx.

Existing 
Opening

Edge of Compressor Room - See DETAIL C

50’
Approx. 3” Ø

3” Ø

3” Ø

2” Ø

2” Ø

2” Ø

2” Ø

2” Ø

2” Ø

2” Ø

2” Ø

2” Ø

2” Ø

2” Ø

2” Ø

3” Ø3” Ø 3” Ø 3” Ø 3” Ø 2” Ø

3” Ø3” Ø 3” Ø 3” Ø 3” Ø 2” Ø

1” Ø

1” Ø

1/2” Ø

¼ ” Ø

3/8” Ø

Q-Coupling 
& Flex

1 ½ ” Ø

¼ ” Ø

3/8” Ø

Q-Coupling 
& Flex

1 ” Ø

3/8 ” Ø

Factory Valve, 
Filter/Reg
& Solenoid 
By SENBA.
Provide ¼” Ø 
Q-Coupling 
& Flex ¼ ”

Factory Valve, Filter/Reg
& Solenoid Provided By SENBA.
Provide ¼” Ø  Q-Coupling 
& Flex1” Ø

3/8” Ø

Solenoid Box 
under Conveyor

3/8” Ø

½ ” Ø
¾ ” Ø

Pipe Up to Glulam Beam and 
Mount with B-Line® # B3191- ¾ ” 
Ø Straight J-Hook  w/ 3/8 ” dia x 2 
½ L Lag Screw @ 5 O.C. 

¾ ” Ø

Mount 
Filter/Reg/Gauge/Bracket 
Grainger ½” NPT 
Grainger # 4ZL01 3” SQ 
Tube Stand. Provided by 
SENBA. 

Drill and Tap 3” Ø Conveyor Tube for 
Air Purge

3/8” Ø

Mount Filter/Reg/Gauge/Bracket 
Grainger ½” NPT Grainger # 
4ZL01 4” SQ Tube Stand. 
Provided by SENBA. 

Mount Filter/Reg/Gauge/Bracket 
Grainger ¾ ” NPT Grainger # 
4ZL02 4” SQ Tube Stand. 
Provided by SENBA. 

¼ ” Ø

½ ” Ø

1” Ø

½ ” Ø

Mount Filter/Reg/Gauge/Bracket 
Grainger ¾ ” NPT Grainger # 
4ZL02”. Provided by SENBA. 
Fab/install Mild stl bracket 
between Mid – Rail and top hand. 
Do obstruct access to railing or 
protrude into walk way. 

1” Ø

Mount Below 
Access Gate to 
tube steel  

See Elev A-A for Details

24’ -0”

19’ - 0”

29’ - 0”

Mount 
Filter/Reg/Gauge/Bracket 
Grainger ½” NPT 
Grainger # 4ZL01 
Provided by SENBA. 
Mount by 2” Ø Header

¼ ”

¼ ”

DETAIL D
Air Hose Station - 9Places 

¼”=1’
A 5/7/01      Released for City Review. 
by

1/4” = 1’

A 5/5/00
E - 1128

COMPRESSED AIR PIPING

Dry Products Facility
Hayward,Ca

P - 1

18” L Strut

7” Approx

18” L Strut18” L Strut

18” L Strut

18” L Strut18” L Strut 18” L Strut18” L Strut

24” L Strut24” L Strut

12” L Strut

18” Wall Opening - See DETAIL A 3 
Places

24” Wall Opening - See DETAIL A 3 
Places



Air Hose Station – See Detail D

Ball Valve – See Notes

Combo – Filter/Regulator/Gauge 
w/Mount Bracket

Solenoid Valve – See Notes

Equipment Connection Size

Concentric Reducer 

Equip.Power Connection Location

Pipe Elbow End View 

Reducing Tee 

Safety Vent Valve

Symbol Legend
HS

¼ ”







¼ ” Ø¼ ” Ø



24’-0”

24 ” Open

Or 18”

6”
Open

3” Ø Type L Compressed Air 
Header. 

w/ B1470-3” Ø Hanger p 43 
Cat #PH3R  & w/ ¼” –20 
Channel nut # N624WO p 46 
Cat # SS99

2” Water
Future

St
ud

St
ud

Stud

St
ud

DETAIL A

Wall Opening & Strut Mounting
3/16 ”=1 ”

1 5/8” Strut                              
B - Line  # B22H178  Galv  
12 Ga. p 40 Cat # SS99                          
See Wall Strut Schedule

CL
CL

15’-0”
CL

14’- 4 ½ ”

Stud

5/16-12,Type B, Hex Head 
Tapping Screw at 6” 
O.C.max. 

DETAIL B

Wall Opening Cover Plate
1/8 ”=1 ”

(8) #10-24 Self @ 6” 
O.C.Tapping Tech 
Screws into stl stud. 
framing.

12 Ga Mild Steel 
Plate- Paint 
w/White Enamel

24”
Or 18”

7 ¼ ”
Approx

Notch Plate 
around Pipes

Pistol Grip 1/4” FPT Grainger # 
5X786 w/ 12” Extension Grainger 
# 4TL22
Air Hose ¼” Dia x 25 ft Long 
Grainger #3JT63

w/ ¼” Dia Quick Couplers -
Female Grainger # 6CX02 Male 
Grainger # 6CX03

Hose Rack Straham # HR-100

3/8” Ø

¼” Ø Quick Coupler Assy

3/8” Ø tee w/Cap

3/8” Ø x ¼” Ø Reducer
¼” Ø Ball Valve

By Installer

By SENBA42”

Walking Surface

HS

14”

1” Ø

1” Ø

In Out

6’-9”

5’-9”

3” Ø

Air Dryer

Air 
Compressor

2”

(4) 3/8 ”Dia x 3 ½” Embedment 
Wedge Anchors 

w/(4) Vibration Isolation Pads

Rated 1200 lb ea. Grainger # 4C974

3/8” Ø

Automatic Drain Valve 
Grainger # 4KT04   3/8” FPT 
Supplied SENBA. Pipe to 
Drain Pan. 

Drip Pan 12 x 20 x 3H 304 
SS # 2b - Fabricate

Pipe Above Door 
Supply and Return 
piping. Mount w/ B-
Line® Straight J-
Hook Hanger 
B3191- 1” p 58 Cat 
#PH3R. 

4

N

DETAIL C
Air Compressor Room

3/8 ”=1’

To RM# 1

6 x 8

15’- 0”

18”

CL

10’- 6”
63 ”

Elevation  View A-A
Blending System

(Looking West)

¼” =1’

11’- 6”

19’- 6 ¾ ”

16’- 6”

28’- 0”

3/8”

15’- 0” 14’- 4 ½ ”

CL
Wall Strut

1” Ø

T.O.S. Rear Deck 

HS

HS

¼ ” Ø

3/8” Ø

¼ ”

¼ ”

¼ ”

1” Ø

¼ ” Ø

¾ ” Ø¼ ” Ø
3/8” Ø

¼ ”

3/8” Ø

3/8” Ø

Filter/Reg/Gauge/Bracket

Wall Strut Along       
Beam R - Ref

2” Ø Header 
3” Ø Header 

Valve Box

Hanger Spacing*
Pipe Size Span
(inches)          (feet)
¼                        4
3/8                                  4
½                        5
¾                        5
1                         6
1 ¼                     7
1 ½                     8
2                         8 
2 ½                     8
3                         10
* Water Filled per 

MSS SP-69. 

Wall Strut Schedule*
Col 4 Wall                (6 )12 ”L,  w/(2) Screws Ea

Col 4 HS                   (1 )12 ”L,  w/(2) Screws Ea

Hallway Wall           (17)24” L, w/(4) Screws Ea

Col 5 Wall                (17)24” L, w/(4) Screws Ea

Bm N Rm#1 West    (8) 18 ” L,  w/(3) Screws Ea

Bm P Rm#1 East      (6) 18 ” L,  w/(3) Screws Ea

Bm P Rm#2 West     (6) 18 ” L,  w/(3) Screws Ea 

Bm R Rm#2 East      (6) 18 ” L,  w/(3) Screws Ea

Bm R Rm #3 West   (6)18 ” L,   w/(3) Screws Ea

Rm #3 East               (6) 18 ” L,  w/(3) Screws Ea

Rm#4 East                (6) 18 ” L,  w/(3) Screws Ea     

*Wall Strut Spec - 1 5/8” Strut B - Line # B22H178 
Galv 12 Ga. Eq Space, 8 ft O.C. p 40Cat # SS99
w/5/16-12,Type B Self Tapping Screws.

Ref Drawings

M-1 Equipment Plan E-1118

M-2 Equipment List E-1115

M-3 Packing Rm # 2 E-1121

M-5 Blending  System Gen Arrgmnt E- 1108

Notes:
1. All Elbows are to be long radius. No exceptions.

2. All pipe to be Copper Tube, Type L, Per ASTM B 88.

3. Wrot Solder Joint Fittings material and workmanship shall be in accordance with ASME/ANSI B16.2; “Wrot Copper and Alloy Solder Joint Pressure Fittings.”                    

4. No Ceiling Hangers are to be mounted on 2” x 4” wood joists,only purlins and Glulam beams.    

5. Hanger Types:

a. Strut: B - Line ®,  #B1400 Series Hanger p 43 Cat #PH3R, 1 5/8” Strut, B - Line® , # B22H178 Galv 12 Ga. Hanger Spacing per Water Filled per  MSS SP-69.                                       
w/ ¼” –20  Channel Nut #  N624WO p 46 Cat # SS99 

b. Horizontal Mount: B - Line® , B3191- x/x” Ø Series Straight J-Hook  p 58 Cat #PH3R. Lag screw size per manufacturer.

c. Vertical Ceiling Beam Mount: B - Line® , # B3199 B - Line® , Ceiling Flange or B3058 B - Line® , Side Beam Connector. Use Copper Tubing Clevis Hanger B -
Line® , #B3104CT-x/x Ø Series P 146 Cat # PH3R. 

6. Ball Valves, ¼ ’’ To 2 ’’ per MSS SP –10,  NIBCO Bronze FULL PORT #S-585-70, 600 psi rated, Solder Connection w/ TFE Seat. 

7. Ball Valve 3”, NIBCO Bronze CONVENTIONAL PORT #S-585-70, 600 psi rated,  Solder Connection w/TFE Seat.

8. Safety Vent Ball Valve, NIBCO Bronze FULL PORT #S-580-70-SV, 600 psi rated, NPT Connection w/ TFE Seat. 

9. THIS IS A DESIGN BUILD PROJECT. The equipment and details as shown on the drawings are intended to describe the general scope of work required and are not 
intended to be exact. Deviations may occur during field installation. Installer is contracted to perform design services, and field verify dimensions as required to complete 
the scope. Any major discrepancies to the drawings are to be be reported to the owner and/or engineer prior to commencement of work affecting the contracted scope.


